g gt @) w24

o
No. of pages in Booklet -24 E §
gieer § Ul S w=-75 B
No. of Questions in Booklet -75 = - 4 D
Subject Code — OA : . = 3
fawa/ SUBJECT : - o i .
Gen.Awareness and Gen. Studies P g =
PAPER-| ot

99 : 1.30 gve 3ffermed 3@ : 150

Time: 1.30 Hours Maximum Marks: 150

LR E R (A U TR TG B TR A /G G o) @rent I O a8 GrRed o of [ 96 S0 G W e

TeT=93 GRABT W ST R S IR vme woeifhd €| o fr=tar 81 o S | USH-UF U $Y of | TET | by
R R araeff & anfy | i o

The candk.iate should ensure that Question Paper Booklet No. of the Question Paper Booklet and Answer Sheet must be same
after opening the Paper Seal/ polythene bag. In case they are different, a candidate must obtain another Question Paper from the

Invigilator. Candidate himself shall be responsible for ensuring this.

qﬁm@f o) @ ﬁ‘cf‘ﬂ INSTRUCTIONS FOR CANDIDATES
1. T U B v S 1. Answer all questions.
2. W U B s | 2. All questions carry equal marks.
5 e [ ) S 3. Only one answer is to be given for each question.
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1. Which of the following statements are true A. 39 W B e § 91 % A P Pym
about Ashokan pillars? Select the correct el 87 A & T aet ¥ W 9 e I

answer from the codes given below - (a) gy 9 e ¥

(a)  They are fluted. o B 08
(b)  They have polished surfaces.

(©) Wl i W aiferg e &

@) w0 3 afte (a1e) Teres 2|

()  All of them bear inscriptions.

(d)  Shaft of pillars are monoliths.

it Ok 1) b, ¢, d 2) a,c,d
@abe @ bandd Rab.ec @®iorad
2. The world famous Myson temple complex is 2. fiwq yfe Kt (ArSHT) wfer HE afem
the legacy of which ancient kingdom in South- ud Ul & fhg g e a9 ERTEN 27
East Asia?
(1) Champa (2) Funan (1) =y (2) BAF
(3) Srivijaya (4) Mataram Q) #ifasry 4) 91aRM™
3. Who among the following was associated with (3/ A w9 wmEE § s 9 9 B T
Shri Vaishnava Sect? 0
(1) Vallabhacharya (2) Chaitanya
_ vd) e (2) T
(3) Mira (4) Ramanuja '
(3) ey (4) I
4. Which newspaper was used b ‘
‘ ¥ Vijay Singh 4 forey TR Y R L0
Pathik to publicize Bijolia Peasant Movemeng BT ;’3 i \ ; N
throughout India? : ol W MR #§
A BT g g ‘
(1) Yugantar (2) Naveep Rajasthgy
(1) IR T o7
(3) Tarun Rajasthan  (4) Pratap _ &
| oy (3) TOT T %
YA | '
[OA] 7%
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5. Which of the following statements aboyt ‘} GIIY a5 919 $ aN ¥ =fiad § & &

Subhash Chandra Bose are true?

. T P F &2
(a) He was appointed Principal of National (a) Al AR, G ° S A diad
College by C.R. Das. A Err%mi forgary famam
BT A7 |

(b) Subhash also served g -
S e (b) IV ¥ Faddr TR T B g

RGN ANHRT & ©T F A B

Executive officer of the Calcutta

Municipal Corporation.

(c) Later, he was elected the Mayor of i
Calcutta Municipal Corporation. () BR ¥ 7 FHodar TR 7mH @
(d) In 1939, he formed Forward Bloc in IR |
congress. (d) 1939 H S HUA W BRIS D
Choose the correct code - &1 T4 fdar|
Wl B AT —
(1) @), (b), (¢) & (@) (2) (b) & (d) A (a), (b), (c) 3R @) (b) 3R (d)
3) (@), (c) & (d) 4) (b), (c) & (d) 3) E:)) (©) AR (d) @ (b),(c) 3R (d)
6. Who was a master painter in Akbar’s Court? 67 344 ¥ BIF THIC JheX d axaR § FFdR
& IS A?
(1) Ustad Mansur (2) Khwaja Abdus (1) S¥ITE "R (2) TS 3eg¥ oS
Samad (3) Iger B 4) 9

(3) Abul Hasan (4) Mushkin «,
7. The article ‘Why I am an Atheist’ was written "7/’?5'@ F qias a1 ir foraT T a—

by -

(1) Ras Behari Bose  (2) Chandra Shekhar (1) YEfIEN! 919 §RT (2) 7% IR 37NG
Azad gRT
(3) Subhash Chandra (4) Bhagat Singh 3G I e (@) wid g g
Bose EIN
8 RS ST @ R F9 g2

8. When was the Swaraj Party formed?

(1) December, 1923 (2) December, 1922 () Ry, s923 (@) FaRR, 1922

(3) January, 1923 (4) March, 1923 (3) T4, 1923 (4) 514, 1923
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9. What is the Chronological order of the 9. WdEr G @ SRE iSRG 2R 3%113
following assassinations carried out by the :

ol 9 ok FTT T WEl BTcTshH T &7
revolutionaries during the freedom movement? :

(a)  Assassination of Sir Curzon Wyllie (2) ¥R ®oiF dgell bl Bl
(b)  Assassination of J.P. Saunders (b) A Hied @ B
(c)  Assassination of A.M.T. Jackson (c)  UUHS Siews &I &l
(d)  Assassination of W.C. Rand (d) S ¥lL XS @I &R
(1) (©) (2) (a) 1) () (2) (a)
@ © | @ ©
(b) (d) (b) (d)
(d) (b) (d) (b)
@) (d) (@) (b) (3) (d) (4) (b)
() (©) (a) (c)
(c) (a) (c) (a)
(b) (d) ) (d)

10. Who was the last o lead the deputation sentby 18 ibax o fowa! RieHved &1 (<A g
Akbar to Pratap to negotiate his peaceful HY P AU YAU @ U AW, die 98
subjugation? Wﬁqﬁzﬁ e aT ER B Gb?

(1) Jalal Khan (2) Bhagwan Das (1) Tefrel @ (2) AT <14
(3) Todarmal (4) Man Singh B TTSRH (4) FITE

11. Which of the following officers were killed by ~A1. fferfad q & JHeRi Bl AT 15
the rebellious forces of Kota State on 15th SfaeER, 1857 1 BICT Bl ReTg ey
October 18577 | 9 @) o
(a)  Major Mofrison . (@ R HREA
(b)  Dr. Sadler b) € dER
(c)  Major Burton © ¥R T
(d) Captaiq Showers @ S ot
Choose the correct code & e @1 T Hifr |
) (a), (), (©) 2) @, (. (1) (a), (b), (©) 2) (a), (c), (d)
3) (), (d) @I0LEOF R - BR(eRd) @) (b), (©)

== v RTI Page 4 of 24
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12. On whose suggestion did Dayanand Saraswat

13.

0A1¥

begin to deliver his public Lectures ip Hindi

instead of Sanskrit?

(1) Dwarkanath (2) Ishwar Chandra
Ganguly Vidyasagar

(3) Keshub Chandra  (4) Akshay Kumar

Sen Dutta

Match list I with List IT and select the correct

answer from the codes below-

ListT List II
Commission/ Governor General
Despatch

(A) Sadler Commission (i) Lord Ripon
(B) Hunter Commission (i) Lord Dalhousie
(C) Raleigh Commission (iii) Lord Curzon

(D) Wood’s Despatch (iv) Lord

Chelmsford

(@) (A)-(iii), (B)-(1),  (2) (A)-(1), (B)-(ii),
- (O)-Gv), (D)~(ii) (C)-(iii), (D)-(iv)
(3) (A)-Gii), (B)-(ii),  (4) (A)-(iv), (B)-(i),
(C)-(i), (D)-(iv) (C)-(ii), (D)-(ii)

}.ﬁfﬂﬁmﬂ LIS 2 5 1 e e
Il A HEAS AT H G b
TR BT $T WA beeT oIReT T

(1) ETRBTI TR WW
EBIRIRIES

3) BY9 T T (4) e FAR AT

G 1 B g 1 g AR g v
T2 9 68 I R

@ &l 11
e /s TER TR
(A) SR B (i) e R
(B) E<X HfAzH | (i) TS Scalofl
(C) el B (iii) TS PHoi
(D) 30 R (iv) oI IR

(1) (A)-(iiD), (B)-(i),  (2) (A)-(i), (B)-(ii),
(C)-(iv), (D)-(ii) (C)-(iii), (D)-(iv)

3) (A)-@id), (B)-(ii), () (A)-(iv), (B)-(i),
(C)-(), (D)-(iv) (C)-(iid), (D)-(i1)
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: ot 3T FRIC e (1891) P
14. Who among the following opposed the Age of | /1¢ BRG] feperT “qol 3T

Consent Bill (1891)? faTey fdbar oar?
(1) R.G. Bhandarkar  (2) Bal Gangadhar (1) AR, doRPR [ 9l TR fife
Tilak 3 .
(3) 7ereg Mia  (4) 9fH TS
(3) Mahadev Govind  (4) Bankim Chandra
Ranade XIS

15. Which of the following Gupta Period temple is  15. el &1 frfaRag & 9 @94 Hfex

not situated in Madhya Pradesh? e F araRerd T 27

(1) Vishnu Temple,  (2) Shiva Temple, | (1) ferrar &1 fawg (2) T 1 R Hfex
Tigawa Bhumara Afew

(3) Parvati Temple,  (4) Dashavatara | @) T R (4) TG BT AR
Nachna Kuthara Temple, Deogarh T w5 sifeg

16. In the following sequence, the missing termis-  16. 1 o H @ Ue B

2 4 7 11 16 2 4 7 11 16
Bz 2 (3] g L 3|
a 7 2 7 . @7
13 9 13 9
3 7 (@ 3) 7 @ 7
11 . 15 H 15

17. P’s father is Q’s son. M is the paternal uncle of ~ 17. P &7 ficy Q &7 de1 & | M, P &7 Uqe 91 &

P and N is the brother of Q. How is N related ARN Q& g ¥ NGB M A DT THEH
(1) Uncle . (2) Brother (1) 3y 2) W
oo | (4) Nephew /(3) TR 0 (&) W
W Page6of2q -
b
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8. Ina certain code CAT is written as SATC and -A‘S”q’as ﬁrﬁaa FIE ¥ CAT HI SATC forarm & iR

DEAR is written as SEARD. How would SING

pe written in that code-

(1) SGNIS (2) GNISS

(3) SINGS (4) BGINS

DEAR @' SEARD foram 2 | 931 ®re 4 SING
BT DY forar SAeT—

(1) SGNIS (2) GNISS

/(1)/STNGS

(4) BGINS

19. There were 25 teachers in a school, whose mean _19: Ue faenmera # 25 ea™D oy | SFDI IAY BT

age was 30 years. At that time a teacher retired
at the age of 60 years and a new teacher was
appointed in his place. Now the mean aée of
teachers in the school was reduced by one year.

The age of the new teacher 1s -

(1) 40 years (2) 35 years

(3) 25 years (4) 30 years

20. The empirical relation between mean, median

and mode is-

(1) Mode — Mean = (2) Mean + Mode =

"
= (Median - Mode) 5 (Median-Mode)

' 1 Mean — Median =
(3) Mean — Mode =3 (@d)Eve

(Median - Mode) e
edian -

Jitd 30 o o7 | S HY U AT, !
omg 60 @y ofl, Haridd &YX AR TH T
ST &) P 99 SRS & W W B

| o/ AT @Y i g 1 a¥ BH &

X3
TS | T D B Y B ‘2‘75;2
—£9p
(1) 40 a9 %) 35 @ 15X
-—11,2_3
(3) 25 a4 ) 30 ¥

za/rnm,mi%a‘cb‘rqﬁagaa%a%mwmﬁ@

R e
(1) 5T — A = () A + TP =

L (sfeanr-aga®) %(HTW—W)

2

(3) T = TG = () A =

L 5T (e TET)

Page 7 of 24
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_ 21.ﬁwﬁaﬂw@amma‘£f%?
{ the following is not a WO
21. WhiCh 0

LT
dimensional diagram:

Multiple bar (2) Pie diagram D) /o () g ARG
(1
diagram :
(3) Square diagram  (4) Rectangular AR 3R (4) AR Mg
| diagram

22. The volume of a cuboid is 140cm?, The areas

22-%%%%140%%”%%

of its any two surfaces are 28cm> and 20 cm?,

3T R BT e 28 A2 3R 20 {2 ?
The sum of the lengths of a1 edges of the YA @ ) febeTRy %) THIE BT ANy 2
cuboid is-
(1) 64 cm (2) 100 cm (1) 64 | #r (2) 100 T+t
(3) 140 cm (4) 160 cm S R T

23. The radius and the height of cylinder are equal

10 radius. of g sphere. If the ratio of the

numerical values of the curved surface areg of

cylinder and the volume of the sphere is 1:3

b WAHEG o1 & Hey ST 1:3 B & ey

then the volume of the sphere is- BT AT 2
1) 1087 (2) 243n (1) 1087 (@) 243

2 - 2
: 14 4
(3) 1447 (4) 9 ) 7& i

a7
[0A1 3}
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24. In a party, both t tood) i
x ypes of food, vegetarian and _/M '
getarian : 24. TP Uit #, HTRRT Td ATATENT Tl
: YhR &
non-vegetarian were served. Some persons
sons took '
A W T | 6 ATl § DA AMBHERI
only vegetarian food and some persons took W for
IR §B ARGl 7 ad AFER
only non- vegetarian food. While some persons L
ferar | ! '
W4 Hu @il 3 S TER

took both types of food and rest did not take any
B Ao form @ik I A fhdl A YR &

type of food. Which of the following Venn-
o A foram| e # | BT A3

diagram correctly represents this situation?

= ReIfd P1 98 YR W UGRIq $¥dl 87

. @ Y .
3) @
"® ‘0 "6
O

25. 277zoﬂwzﬁﬁﬁﬂwwﬁ'ﬁm

(1)

)

&)

®

25. The number of different divisors of the number
27720 is- g —
1) 6 2)5 1) 6 2) 5
3) 7 4) 4 (3) 7 4) 4

N

Scanned by CamScanner



@) @R @E
M) (@) 3R @)
-27. {61 Rdey ¥ T AR-RwT ¥
(1)  mrd = o + 3
A2 AT = gF + ol
()  dgw = ¥4 + 3Eor
4  Iugd = SR + S
P8 S R I v e T 82

- A RreEm
' @ weE
@) TR
| @) R

2. FrTifed 4 ¥ st Rarcy 3 faew v g 22
1) @€ ~ fawg

@)  FI - F
()  IHe - oo
A T - wRew
/30. Wﬁmwﬁmﬂmmﬁmagp
A e
@ v
@ smyhF
@4  govar
[OA] % ' Page 10 of 24
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) }r Which option is not the antonym of ‘Obedient’ 9

(1) mutinous

!}) dutiful

(3) disobedient
(4) stubborn

32. Choose the correct preposition:

They live....... us on the fourth floor,
A under

(2) within

3) besides

4) below

33. Choose the correct degree of adjective:

AVcariSiprice isiusually. ... ooeen-.: than a bike’s price.
e o] high

(2) lower

(R)] more expensive

(4) cheaper

34. Choose the grammatically correct option:

If he were to reach the venue in time, he.......... have to hurry up.

(1)  would be
2)  will
(3) must be
4  would
35. Give the correct passive form of the given sentence:
‘We saw them go out.’
(1)  They seen to go out.
(2) Going out was seen by us.
t3) They are seen to going out.

(4) They were seen to go out.

[OA] 5\2 ' Page 11 of 24
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36. The photograph of which Indian Scientist has 36/11:1-@?—5. freq § 50 USS B e
been recommended to be printed on 50 pound TR s 31 TER BT DI RImTR B

note in United Kingdom?

TS ®?
(1) Meghnad Saha (2) Jagdish Chandra (1) 3 e ) TS g A
Bose .
' i ). Ol 31sged
(3) Homi Jehangit  (4) A.PJ. Abdu] () 3 St wr (@) T
Bhabha Kalam

hellH

37. What among the following is not included in

I 4 emi @ A FRRKET 3
S S g, Prifd S 1

for Women Empowerment’ i Rajasthan?

the ‘Chief Minister’s Seven Point Progr

el 87 |

(1) safe motherhood  (2) counselling for (1) grfera g _(2) dclteh & forg
Divorce R

(3) population - (4) providing safety (3) SFRiwE Rerfigo (4) wftemal @1 e

stabilization and safe Tq YRIET dTeraxor
atmosphere for T BT
women
38. Census 2011 was which census survey? (38 ST 2011 S AT S=RT0MT HAETUT o7
(1) 15" (2) 13" M 15 df (2) 13 of
(3) 14" ) 16" (3) 14 df (4) 16 df

39. At which place in Uttar Pradesh, the recent  39. wRq & WRIATTS TR & BRI Seay ¥,

Archaeological Survey of India excavation has IR U9 & e W ) 2000 91 28 <
discovered several burials dating to 2000 B. C. AHIRRET @l TS 82
E.2
(1) Basti (2) Domariaganj (1) T 2) WT\TT
(3) Sanauli (4) Hastinapur 3) T @ =R
~ [0ATX Page 12 of 24
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40. 5th Asian Men’s Hockey Champions Trophy. /40/ oy e &1 54 uRms Al 211, 2018

2018 was organized at -

(1) Bhubaneswar (2) Kuala lumpur

BT AT STel g3l —

(1) Ha-igaR LA2) BTN X
(3) Seoul (4) Muscat (3) Ryt (4) HEHC
41. Who is the author of the Book Intertwined 41, 'gercdizTS m RAED & dud /AT
Lives’? A =2
(1) Shashi Tharoor  (2) Jhumpa Lahiri (1) IR R (2) T TRl
(3) Pritish Nandy (4) Jairam Ramesh 3) Hiferer = (4) STURTH XHI
42. Which one of the following films was not  42. f=iifba # ¥, B9 — ¥ TP fhed FHoa
directed by Kalpana Lajmi? ol g1 SR T8 87
(1) Rudaali (2) Ek Nazar (1) BaTell (2) U AR
(3) Daman (4) Darmiyaan (3) == (4) =AY
43. North Sentinel Island is located in - 43 I dfea g o't Reg @ —
(1) Palk Strait (2) Bay of Bengal (1) UTh STefsweaed  (2)-Tel 1 @
(3) Indian Ocean (4) Arabian Sea B) e e i
[OA] X Page 13 of 24 3
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44, Who among the fo

Judee Constitution Bench of the Supreme Court
udg :
N - )
in the Aadhaar Scheme and Act case on 26
September, 2018 dissented from the majority
verdict?
(1) Justice A. M. (2) Justice Ashok

Khanwilkar Bhushan

(3) Justice D. Y. (4) Justice A. K. Sikri

Chandrachud

45. Consider the following statements regarding

Virat Kohl; -

L. He is the 13th player in the world to
complete 10 thousand runs in One Day

International matches.

II. He took 210 One Day International

Innings to reach this achievement.

(1) Only I is correct (2) Both I and II are

incorrect

(3) Only I is correct (4) Both I and I are

correct

DAl XX

45,

Page 14 of 24

' | SR AISHT Ug |
llowing Judges of the Five —  44. 26 Rycia, 2018 &1 mﬁmﬁ

aﬁﬁsﬁiﬁr{waﬁfﬁaw%
9gad & v ¥ areEfy

(1) =rgHfd v ue,
Wrfdefey

(2) =grfct srome
SRR

(3) =mHf €. ard, 4) =rHfd v 3
EE s

ﬁ?ﬁﬁﬁ?ﬁzﬁmaﬁﬁwmmwﬁw

faam ity —

L % — oo sierisfy 991 & 10 T9R
TR T G G 158 e
g |

Il.wma%rﬁaﬁamﬁe%ﬁ
210@—%@331?!#@?1%@6%!

(1) daer [ HE 2 (2) I T9'11 eMf 1o
g |

3) Baet I w2 @) 1 U9 I =7 92

¥
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46, A normal baby gir] receives her X

chromosomes from, -

(1) either her mothey (2) her father only

or father

(3) her mother only (4) her Mother gpnq

ﬁwmm%mxww
B R —

(ﬂmaﬁaﬁwﬁ(%aﬁﬁwﬁ
a1 Y fuqr 9

(3)Wauﬁ‘rmmﬁ(4)mﬁmma‘m

father both Ry <y -
47. Who is the highest ranking civil serygng of 4. IRG F1 wwated a5 Rifda das #i 22
India? R |
(1) Chief Secretary (2) Principg] Secretary 5= g (2) GOHST B Herrey
to PMO afug
(3) Cabinet Secretary 4) Principal Secrelary ) HEmues g (4) wreufy @ BRIE
to the President JRyg
48. The office of India’s President does not 8. g @ NS &7 ue ST gonfer &
characterise the  combination of the s AT By H’ﬁ“ﬂ‘[@j BRI TG o
Governmental Systems of-
(1) Parliamentary and (2) Presidential ang (1) F9y vy (2) SreTeTHS g
Republican Republican Ty Tort
(3 Republican and (4 Federal ang A3 Ty @) 5T vg ey
Democratic Parliamentary e
T Y A ——— O
[0A] X
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: FrefHhT ofar] P A HF ST FH TR S
liform bacteria are found in which human / |
49. Coliforn

?

organ? L

(1) Heart (2) Liver (1) gex (2) T
(3) Kidney (4) Intestine '/(3) @ e

50. The reaction Na,SQy (aq) + BaCl, (aq) — 50. Ay Na;SO. (aq) + BaCl, (aq) — BaSO;

BaS04 (s) + 2 NaCl (aq) is the example of - (8) + 2 NaCl (aq) STTERT © —

(1) Decomposition (2) Double (1) uees aiffbar  (2) fafaeenus

dT Iffhar &1

reaction displacement

reaction

(3) HIT i (4) =as syfAfehay

gl G2

(3) Addition reaction (4) Reduction reaction

51. SI unit of momentum is -

Sk AT 7SI Az &

(1) kilogram — metre (2) gram — centimeter 1) freium — Hiew () IH — S
per second per second g Yepve Uiy Apve

(3) newton — metre per (4) Joule — metre per W — Hlex ufy @) I — drex uyfy
second second ' Aprg HHUg

S2. With how ‘many senior most Judges of the 82. Sooay =mrery ATATERT Y fogfer Sl

Supreme Court, the Chief Justice of India has

ﬂﬁqﬁﬂﬂﬁﬁt{é,wzﬁgmwﬂﬁ

to consult before making recommendation for

STITH RIS & b aRsgam et
appointment of Judges to the Supreme Court‘? 3 oM B 22
W6 )3 @6 23
() s )4 : OR @ 4
10A1Y7
[0A] X Page 16 of 24
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54.

55.

56.

following committee,

R) Paliwal Committee

(1) Verma Committee 2

e pl-edeCeSSOl‘ house of ‘Council of Stat
, ates’

was-

(1) Chamber of (2) Central Legislative

inces ,
pPri Council

3) Council of State  (4) Centrg] Council

which one of the following elements has

atomicity equal to one?

(1) Oxygen (2) Chlorine
(3) Sulphur - (4) Argon
How many Political Parties in “India are

recognized as National Party by Election

Commission of India?

(1) Seven (2) Six
(3) Five (4) Four

Upon recommendation of which of the

GIERT Udaipur was

established?

) Mehrotrd
Committee

@) Yashpal
Committee

Dana 17 of 24

(3) HISRie 3 we (4) Jgd PSR

Wﬁﬁmﬁaﬁww

56.

eIl &7

(1) SifadeT (2) @RI
(3) T (@eER) I

A @ fare e gy o RS RIIRED

ﬁﬁaﬁv@ﬂwm‘mﬁmmaﬁ
g 27

(1) Grd .‘JZ)-‘J:

(3) dfd (4) IR

frerifepa 3 @ fore |fAfy @1 ST @& TR

R TH. IE. 3. TR, & SEUYR D WIAT DI

T &P
(1) =t At (2) HERAT |t

(3) wrehiare AR (@) R
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37, The W@awm?ﬁﬁmiﬁmwn

& fory wdie

apex  academic

organization  for W@Hﬂ H
¢ : ) ; . : _
ducationa] planning, implementation and fopmgfor, foparad ud AP

' : i anization) & —
evaluation for school and teacher education in Siferep |are (Academic Oreas
Rajasthan is - e
& @R IEE
(1) TASE, Bikaner (2) RIE, Ajmer (1) amg. U. O
CICaRRS -
2% @) < GTTST é
3R,
(3) SIERT, Udaipur  (4) DIET, Jaipur (3) Td. 3z g ‘)
' &, , SR (eTge) AR
yfreqor faifhd H ¥
58. Which of the following district is not covered  «58. Aare (2efd i ? i b
by CTE (College of Teacher Education) P forer . L
Hatundi for In - service teacher training? S EICRIEE)) gE;UCs‘T D 3t el
(1) Tonk “I{2) Nagaur (1) <P (2) IR
(3) Kota (4) Bhilwara /(:,) Hlel (4) HrerdrsT

59. The first step of development of an EMIS is - A9. U6 EMIS & fIBr &7 J2H T 8 —

(1) Identification of ~ (2) Collection of data ) STET EeESaRl (2) A HHET
data needs ; @1 YEd

(3) Establishment of  (4) Defining goals and 3) SR F Rl (4) e - T

GRYIRT AT

Databases objectives

60. Which of the following city is not connected ((0 = § 9 P TR ‘{ci—qﬁﬂ'q HINSR A

with East-West corridor (NHDP-II)? ST el 82(TF va S di-ll)

(1) Kota (2) Jaipur (1) drer (2) AR
(3) Udaipur (4) Chittorgarh (3) SR (/Qﬁ%ﬁm
YA e

[0A] A Page 18 of 24

Scanned by CamScanner

4



o

1, As per the RTE Act 2009, what should be e
punishment if a school receives ‘Capitation

Fee'?

(1) Upto Ten Times of (2) Upto Tep Times of

the capitation fee the capitation fee

charged and /or an

imprisonment of

one year

(3) Upto Twenty (4) Upto Thirty Times

Times of the of the capitation

capitation fee fee charged

charged
62. Consider the following statements-

(A)  Aravalli restricts the eastward
expansion of desert.

(B)  Aravalli region is rich in minerals.

(C)  Distributional pattern of rainfall in
Rajasthan is not affected by Aravalli.

(D) Several rivers of Rajasthan have their
origin from Aravalli.

Select the correct answer using code given
below-

(1) (A), (B), (D) are  (2) (B), (C), (D) are

correct. correct.

- () (A),B), (C)are @) (C), (D) are

correct. correct.

oA 3

A S, T .

61. %mmmwzoog‘cﬁmﬁﬁé
w7 g A oM &1 e 87

(R sfefi (2) ot T e

e B T T e & <8 T

a® I < P i =S T
T AT BT
GACIES

(3) forl I uREf (4) ford T wfdefd
Yo B A AT e B A AT

6?@?{%&93?5@@%%— \
(A)  3RE! o & Ydi faRIR bl Al
gl

(B) m‘aﬁa@ﬁvﬁﬁm%‘l

(C) oI H a9l &1 faavor yrey Rt
I TIae & 2

(D)  TORUT B 3% ARl BT SITH @I
IRTA 2 |

e QT T wme 1 wErr @ 6 9eR @y
AT HifoTu—
AT(A), (B), (D) & (2) (B), (C), (D) e
2| gl
3) (A), (B), (C) W&
2 |

4) (C), (D) &I 2|

Page 19 of 24
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~ ST R 3 . ) m
. the correct sequence of activities of Mgﬂ—,ﬁa R W R
63. What1s

) .11 of a school map at local level? & foru fafr=r sl &1 98 H9 BN a1 g?
prep;lramon ol a: |
1) Projection > (2) Proposal W e — fram - @) s — fem
( T . .

' i Diagnosis —
Diagnosis — ' 3
Proposal Projection | —UEg — YT
(3) Diagnosis — (4) Diagnosis — 3) £ KR @) _9
Projection — Proposal — e AN
Proposal . Projection —UEg —>Yeu

64. Which of the following is not included in ﬂﬁwﬁﬁ 4 B T Ba gNT 2y
‘Functions of Management® as described by T Ydgq P Pl 4 TR T8 27

Henry Fayol?
(1) Planning 2) Commanding (1) &IorT A2) AT
(3) Budgeting 4) Organizing (3) avie f (4) |TST
65. Which of the following is not true about RIE, 05. &= R e (RIE) a5"R & gy 3
Ajmer? FTifse & & B |1 o el 8 27
(1) The admissions are (2) It is controlled and (1) 39 WRAF ¥ yaygy (2) SHPT Yaer v
given by Rajasthan managed by RIS e BRERR G W
Common Entrance NCERT e e e AR, A, ey 2 |
Eran, ford o &
(3) It was established (4) It is affiliated to
oS i (3) THBT T 1963 (4) 7 77 & 4.
in the year : k niversity, ,
' H @1 | favafarem
Ajmer’. 3 ' R
R W Ve 2|
66. In Union budget 2018-19 Sarva  Shiksha }6« DL qole 201819 % ®F fe AP )
Abhiyan is merged in - THIRT v fag T & —
(1) Samagra Shiksha (2) No option i AT T e mﬁs‘ fapey w&
Abhiyan correct A el &
3) Rashtriya Ucchtar - (4) Pandit Madan (3) 3Ty IR e @) Ufeq Has e
:Shiksha Abhiyan Mohan Malviya ST 5
| Mission . :
[OA] 2}  Page200f24
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1 which of the following statement is
not true

about RTE Act 2009?
) Gection 14 of RTE (2) Secti
Ction 28
2 OfR
A Act (2009) deale

Wl_[h prevention of
private tuition of

prevents collection
of capitation fee.

2 . teachers.

(3) Section of RTE (4 i

Act (2009) deals i iicttg:vl;t(;f o
with provisions of punishment to
School children.
Management

~ Committee.

Which among the following districts registered

68.
lowest child sex- ratio (0 to 6 years) in 20117
(1) Bansward (2) Tonk
(4) Karauli

(3) Jaisalmer

69. In which mo
is found in Rajasthan?
(2) May and June

(4) January and
February

.temperature

(1) July and August

(3) October and

November
lowing statement is not trué

70. -'Which of the fol
ool’?

“The Culture of Separation in Sch

2 It makes teachers
reluctant (0 share

about

(1) Encourages
teachers to be

more helpful in professional
institutional problems.
improvement

group

programmes.

(4) No option is

(3) It encourages
correct.

Individualism
among teaching
staff and
management.

67, Ererifea 3 @ @ 1 R o1 SEeR P
2009 @ we § WE eI B
Q«VWWTM (2) S9! AT 28

yforeafad ge Rerdi @ o
wyen o AR ez @ (A
el 2| el € |
(3) g T 21 A (4) gg@1 AT — 17
foeerd e qedi & g8 U
Hfafa &1 e el & |
=
ﬁs/ﬁmﬁ:ﬁaﬁﬁﬁﬁmfﬁﬁﬁzoﬂﬁw
WW(@ﬁeaﬁ)aﬁﬁmﬂm?

—(1) grarsT (2) €@

(3) SR | (4) BTl .

Mwmﬁw%ﬁ?ﬁmﬂﬁ?@w%ﬂ’f
3 oram o &7
R GIEREEIA (2) 7§ W@ LT
(3 qTER T TR (&) STt T R
7o.ﬁmuwﬁmmaamﬁ'a%mﬁ
ﬁﬂﬁﬁﬁﬁﬂwzﬁmmﬂ'ﬁ’s‘?

(2) T Fal @l
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hich of the following statement 1s not true
a a:)ur School Mapping? |
(1) It merely denotes, (2) Itis a set of
marking on a large techniques and
scale map, the procedures.
location of existing

school.

(3) It aims of planning (4) It is used to

for measures to be identify future

taken to meet needs of education

future needs in at local level.

education.

72. As per the DIET’s ranking 2017, conducted by
SIERT, Udaipur, which of the following DIET

is at first position?

(1) DIET Alwar (2) DIET Pali

71. ﬁmauwmﬁam’a%ﬁ?ﬁﬁﬁﬁfﬁmﬁﬁ
B AT BT TE TET 22
Wmﬁrﬁnﬁ (2) e fafs darsfigy

Uh §8 AHERE Y, Td Ufehaati g
I fermerT &1 Uh g 2|
Y19 (Location)
ISR e |
() SHBT F&x Sy (4) 39HT gy
e Sqwamdmal R ®R qr
B GRT P ST ey
fore Sorr oy SIERR G| S0
aTel heH o UEH & forg
AT G 2 | T ST ¥ |

72,

W.m.s‘.a{w.ﬁ.mm%ﬁﬂﬁm
%faa"rrzowa%s;ﬂww,ﬁwﬁaﬁﬁﬁ?m
STEC I I gy 27

(1) STET Seraxy (2) S13T UTeft

(3) DIET Kota (4) DIET Nagaur (3) ST8C Wiey (4) S1ge TR
73. Identify the wrong pair? ' W g™ ®] gw?
Minerals Mines s ey CIE]
(I)  Limestone - Kanoi =) T R - BAIS
(2) Magnesite - Sendra 2) ¥rEe 1 T
@) WEmemld . - . KaisGuman e 2 e
(4)  Bentonite - Rajgarh @)  dermEe - e
(1) 2 )1 i (1) 2 2y 1
3) 4 @) 3 3) 4 @) 3
,m\ Page 220 24
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e st veisi ‘ |
s : i Sy QB IOE (District \/74‘ Ha #H DISE (District [nformation System for
jnformation System for Education) was Education) @1 424 gy fFrited i 9 fod
released in which of the following year?
i af S fowan T
(1) 1997 | (2) 1996 (1) 1997 ) 1996
(3) 199 (4) 1994 (3) 1995 4y 1994
75, The first DISE project in India was funded by 75 A @ 9 <rgd (DISE) sl @
which of following International Agency? fpeifed # o fpd SRR el gl fa<tia
T FaT @l ey e
(1) UNICEF (2) Child International B-afm (2) ANZCS g
(3) School 4) UNESCO 3 S @ ’@3—‘?’)'
International
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